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General Instructions :

(i)

(i)

(iii)

(iv)

(v)

57(B)

There are a total of 27 questions and four sections in the
question paper. All questions are compulsory.

Section A contains questions number 1 to 5, Very Short Answer
Type Questions of one mark each.

Section B contains questions number 6 to 12, Short Answer
Type I Questions of two marks each.

Section C contains questions number 13 to 24, Short Answer
Type II Questions of three marks each.

Section D contains questions number 25 to 27, Long Answer
Type questions of five marks each.
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(vi) There is no overall choice in the question paper, however, an
internal choice is provided in two questions of 1 mark, two
questions of 2 marks, four questions of 8 marks and all the
three questions of 5§ marks. In these questions, an examinee is
to attempt any one of the two given alternatives.

(vii) Whenever necessary, the diagram drawn should be neat and
properly labelled.

Wus A
SECTION A

1. 9 % AR Aoy 1 3 ?

According to de Vries, what is ‘saltation’ ?

2. 3T YR ok HINTRT fOHSH T W d9T A9 Jarsy ogH g
TUREAT (ShIHIEHT) o 7T ol ST AT &S g1 9fed 8ial & |
STt
&elHlHg W HE Hd gC WS 4 fpe YR I8 sy MHepren foh
YT o U his ‘TuTady fogid’ Sotert § 2

Name the type of cell-division and the stage where pairing and
separation of a pair of homologous chromosomes occur.

OR

How did Griffith, while working with Streptococcus, come to
the conclusion that there is some ‘transforming principle’
responsible ?

3. 39 U % AW g Sed wiR 79 & hIfReR1sT W ATHAT T adT
2 | TEHI Teh 30 T |

HAYAT

Fefafea 3 9 yas & Th-Us I9d A 1 W fafiEu |
(a) T (q¥ < a1d) 7Y

(b)  DFpe
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57(B)

Name the disease caused when the body attacks its self cells.
Give an example.

OR
Name one improved variety of each of the following :

(a) Cattle
(b) Chicken

TS w7 ?

What is Biopiracy ?

frelt 57 o oM H dfiwve g A @ 98 B 7, 39T M
fafau |

Name the structure to which the ovules are attached in the
ovary of a flower.

Qs B
SECTION B

Fryier (AE) godi B it s1gfie Jrmoft Isai &1 T oy qe
T BT ferfaT |

HAAAT
qHal § 3781 < 37 § FHifea gF 9 g Ut & a1 @
fafRau | 37 sraEenett & W fafge S0 3 3caw g & it == 2

Write an advantage and a disadvantage of cleistogamy as seen
in Viola (pansy) flowers.

OR

Mention the total number of polar bodies released at the end of
oogenesis in humans. Write the stages in which they are
produced and why ?

W‘mﬁaiﬁ Th e IR d fgpeet dwaw. it a=E @&
qieherd ford TeRT fomam ST B 2

How is the length of DNA double helix in a typical mammalian
cell calculated ?
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11.

12.
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T sl Hed™ faenr o= 71 Srar 2 2 R 0 3@ U ok gl
=) g9t foa Bt 8 | siifucy fafaw |

HAYAT

A=, Ol 3 AW T % U gl@ifeer At (wa afead)
T =9 41 foRAT 2 his IR i faifEu |

Why is Haemophilia referred to as a Mendelian disorder ?

Human females rarely suffer from this disease. Justify.

OR

Why did T.H. Morgan select Drosophila melanogaster (fruit
flies) for his experiments ? Give any four reasons.

HyFrE! U IS T U Godiedd AN S T § | 39
IcATEl <l T TS qAT Ik IUANT T Ioaid HIFT |

Apiculture has become an established income generating

industry. List its products and mention their uses.

TR{d 3T TTRAS HaTE YEH il & | UE g "arsti &1 AW fRan
AT I7ehT Erieh 1 Ig@ it HIVT |

Nature provides many ecosystem services. Mention two such
services and their significance.

e Tsh AT BIEHRY =3k | faug Hifvw | (15 3 1@ fafan)

Differentiate between carbon cycle and phosphorus cycle.
(Write any two differences)

EETicAd dTel H 3Icoeh qNadehl (helfcifesh shradd) sl I9ANT guul
=[AdH U | fohd TR e 8 ? STAT hiWT |

How does the use of catalytic converters help automobiles to
minimize pollution ? Explain.
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Qus C

SECTION C
13. Trelt g9 § Yoy < foeerd o fafim =won &1 smen Hife |
HAAAT
(a) TA.AZ. FI THT ¥ YgAH TI TE UGN ok foIw wshid U
(=af<R) sl oI W TEaT B ?
(b) oo BH % SWU 91 § g dTct fohral IR AfeTAdTST I
oo HIfT |
Explain the various steps in development of endosperm in a
flower.
OR

(a) What deters the infected persons of STDs from timely
detection and proper treatment ?

(b) Mention any four complications this could lead to, in
later stages.

14. (a) WHHOY fofer & &9 O A S TIm0T 6l GAT8 hd ¢ SITd]
2?
(b) TSl § I8 o YR wuw grar 7 3ueh! fafer forfaw |
(c) 39 fafy =t =i sarsu |
reraT
fafafigd < gl fafgu .
(a) HME I § A HIERTE TAT AT HIfTehT
(b) Hd BRIV T TUSH (VShiEH)

(a) When is ‘sterilisation’ advised as a method of
contraception ?

(b) Write the procedure how it is achieved in a human male.
(c) State the limitation of this method.
OR
Write the functions of the following :
(a) Sertoli cells and Leydig cells in human testis
(b) Acrosome of human sperm

57(B) 6



15. (a) HMd IR & T Hdshl o AW faRgu Saerr 3w €.wa.w
snyferem (wA.u. femffan) o faw fran S 2 |

(b) SI.TA.U. IFEYA T 3 qAT I8 Y 39 Il 8 ? 3
(a) Name the two tissues in the human body which are used
for DNA fingerprinting.

(b)  What is DNA polymorphism and how does it arise ?

16. TSI H uifea fofime smatms faeri o ago fefafad & | s

e Torshmdl shi TE=ITHT doT I7eh farfimee sHror oft feifam | 3
(a) BT He, Bl M B, Sy § @9 g1 91 @ 37 &9 9
Al &l 3 |
(b) 3Teqaidd TSIA BHT auT fodies AAfifer &Iul T 3T Brdl
2

(c) WHY &9 ¥ GUYH fasm & @1 a8 o1 g4 (fashfaa =) |

Given below are the symptoms of certain genetic disorders
observed in humans. Identify the genetic disorders and state
their specific causes.

(a) Short-statured with small round head, furrowed tongue
and partially open mouth.

(b) Rudimentary ovaries including lack of secondary sexual
characters.

(c) Overall masculine development with development of
breast.

17. Z.%/oE o 9add Wegm (Ml 98 Jhg A @M 7) H 9 widers el
Jqar 8, d &P YA (Wh-ITUNE) B OBH dTell uiEedrsti Wi
fafige | 3

Write the events that would follow in a lac operon of

E. coli when lactose is added to the culture medium where it is
growing.
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18. Hfsha ufaen qen ffsha gfaen o fave $hifsw |

19.

20.

21.

57(B)

HAAT

frefefiad Toieh Sadisha AR < Al S adT FHE hedol § 3ehl

‘lﬂ'ﬁaﬂ%ﬁ@Q:

(a) T

(b) TS

(c) HISFAEHI

Differentiate between active and passive immunity.

OR

Write the source organisms of each one of the following
bioactive molecules and their role for human welfare :

(a) Statin
(b) Streptokinase
(¢) Cyclosporin A

YOI ST qehriieh (MOET) ol GUTE UR3HT o YU o hHRIHA % €9 H
T IR T 3 ? 39 YshH o (9IS =R0N &l Soai@ il |

Why is MOET program practised on cattle ? Mention the steps

involved in carrying out the process.

UNUeh TS Ugld <hl 31U Icqiadd Yo bl SdT o=l &l SiTd
2 ? Ueh 32180 hl UgHAl © UshH o1 9U9 <hIfVT |

Why is mutation breeding preferred to conventional breeding ?

Describe the process with an example.

STeTo] ShIfSTeRTSTT sl I TR fohE JhR Teqw SHTd 8 2 ST il |
Why and how are bacterial cells made competent ? Explain.



22, (a) SLUAU. AU HI [l TAAT T Hled & T TIH TAGH 1
T fafeu |
(b) U JBR T4 Il BLEAU. WS (IHhei) H faam & H
qehrteh o1 AT fARgE qen samen oft i | 3

(a) Name the enzyme that is used for cutting the DNA at
specific points.

(b) Name and explain the technique used for separating the
DNA fragments thus formed.

23. 3. FUM & WY 3H hHie dfighi (Maas Ta9) o I & S I8¢,
TR W U hl HEA Bl A5 B ¢d 7 | THAET R STUrenfeh $i
TERAT § I8 fohd JehR W9 B Hehl | 3
Bt cotton plants are resistant to insect pests (boll worms)

which destroy the cotton crop on a large scale. Explain how it
has been made possible with the help of biotechnology.

24, (a) ITUEhAT A=A AT AW GR diet i TR G H W@ T

2, T ? SRS HifT |
(b) S T R B Ioft foed & frerd 8 | spror difve | 3
Irerat
(a) =ETER gig Aied q GHR 93 (ATieesh) Jhg Alea d fawg
I |
(b) I HiSAl H ¥ HIH-A1 "isd IATYUl g TR Hi ? 3

(a) Why are majority of animals and almost all plants
categorised as “conformers” ? Explain.

(b) Small animals are rarely found on higher altitudes. Give
reasons.

OR

(a) Differentiate between exponential growth and logistic
growth models.

(b) Which one of the two models is realistic and why ?
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Qus D
SECTION D

25. (a) TNV oh THHI0T § 3Tafscd hifsrehrati o1 A T Wy fofET |
(b) TRV hi forqd TX=AT wa fafyr Wil s sl w1 9UiE HIT |

1+4=5
areraT
o=t 4 oTda a5k o SH fafye uftarerett # Ty gi|H Td Temrt
B9 <h! fHehT i =@ HIT | 5

(a) Name the cells and the process involved in the
production of pollen grains.

(b) Describe the detailed structure and functions of the
different parts of a pollen grain.

OR

Explain the role of pituitary and ovarian hormones in various
events during a menstrual cycle in the human body.

26. .wA.T. W AW E.w1.1. gifris forg fosm 0 < star § 2 €heT.
gfcrehfd WehH T JUH hIVY ST & S1LUA.T. U3 sl Q1 Tl H

HUENG BT & | 5
reraT
(a) 3fud 3erswon i FEEAT ¥ gUSTd 3T THEY M H AT LI
T |
(b) STfeA = 1geRet fafertor i e fre TR i 2 3+2=5

In which direction does DNA-dependent DNA polymerase
function ? Describe the process of DNA replication that
progresses in the two strands of long DNA molecules.

OR

(a) Differentiate between homologous and analogous organs
with the help of suitable examples.

(b) How did Darwin explain adaptive radiation ?

57(B) 10



27. (a) O ATfEd A H YT TE@ HeHh hl AT ST |
(b) TR aTfed HA H IUFEUA Tk A0 & Hoeehi o [oHSiH 1 A

I T 1 JHE TS ?
(c) Torell STa &ra sl <f1. 371 €1, forurehl = & ? 1+3+1=5
T
(a) WA U9 TEE % RN @99 % deW H dg-foe™ i
ST HINT |
(b) USR] H Ieh! Sfia el & &Y fashiaa am R sgge
fafa | 3+2=5

(a) List the major components present in the domestic
sewage.

(b) How would each category of the components present in
the domestic sewage affect the water body in which it will
be discharged ?

(c) What is ‘BOD’ of a water body indicative of ?
OR

(a) Explain the term co-evolution with respect to
the inter-relationship between predator and parasite.

(b) Give four special adaptations which parasites have
evolved in accordance with their lifestyles.
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